

FLOYD COUNTY BOARD OF EDUCATION Anna Whitaker Shepherd, Superintendent 442 KY RT 550 Eastern, KY 41622

Telephone (606) 886-2354 Fax (606) 886-4550 www.floyd.kyschools.us Linda C. Gearheart, Board Chair - District 1 William Newsome, Jr., Vice-Chair - District 3 Dr. Chandra Varia, Member- District 2 Keith Smallwood, Member - District 4 Steve Slone, Member - District 5

<u>Consent Agenda Item (Action Item)</u>: Consider and approve an agreement between the Floyd County Board of Education and McGraw Hill to provide High-Quality Instructional Resources for ELA instruction for all Floyd County students grades k-12.

<u>Applicable State or Regulations</u>: Board policy states that only the board of education may enter into contracts or agreements.

<u>Fiscal/Budgetary Impact</u>: The cost of the K-5 ELA resource Wonders is \$505,429.81. In addition, the cost for the 6-12 Study Sync Student Materials and Teacher Manuals is \$335,631.07 making the total cost \$841,060.88. With the discount for purchasing together, we will save an estimated \$400,069.47.

History/Background: The Floyd County School District is working to provide high-quality curriculum and instructional ELA resources for all Floyd County students K-12. The district is beginning this process with the purchase of "High Quality" instructional resources. To ensure that the best quality resources were selected, a review week was held in the month of June that allowed central office staff, principals, parents and community stakeholders to all have a voice in the selection process. The Kentucky Department of Education evaluation rubric for highly qualified ELA resources selection was utilized to review resources for all grade levels. A survey link provided by the district for reviewers to leave feedback and to cast their vote for what they felt was the best fit for the district. After evaluating all feedback and votes cast, McGraw Hill's resources, Wonders for K-5, and Study Sync for grades 6-12, were the top choices. Other validation sources were also referenced such as Ed Reports where McGraw Hill resources received a green (Highest Possible) ranking.

Recommended Action: Approve the agreement between The Floyd County Board of Education and McGraw Hill.

<u>Contact Person(s)</u>: Serena Anderson, Chief Executive Officer of Instruction; Rachel Crider, Chief Elementary Officer; Ted George, Chief Middle School Officer; Denise Isaac, Chief High School Officer.

Director

uena andero

Superintendent

Shipherd

Date: September 12, 2022



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE 1 (6 Year)					
STUDENT MATERIALS					
WONDERS COMPREHENSIVE 6 YEAR SUBSCRIPTION BUNDLE GRADE 1 Includes: Reading Writing Companion (Years 2-6 Ship Annually), Literature Anthology, 6 Year Student Workspace Subscription	978-1-26-573807-5	410	\$210.00	\$0.00	\$86,100.00
	STUDE	NT MATER	IALS Subtotal:	\$0.00	\$86,100.00
BIG BOOKS					
		BIG BO	OKS Subtotal:	\$0.00	\$0.00
TEACHER MATERIALS					
WONDERS TEACHER EDITION PACKAGE GRADE 1	978-1-26-557491-8	22	\$630.00	\$13,860.00	*Free Materials
WONDERS NATIONAL TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 1	978-1-26-588236-5	22	\$645.00	\$14,190.00	*Free Materials
WONDERS NATIONAL PRACTICE BOOK GRADE 1	978-1-26-579743-0	22	\$39.00	\$858.00	*Free Materials
	TEACH	ER MATER	IALS Subtotal:	\$28,908.00	\$0.00
<u>READERS</u>					
WONDERS DECODABLE READERS PACKAGE 6 EACH OF 6 GRADE 1	978-0-07-697732-1	22	\$421.35	\$9,269.70	*Free Materials
WONDERS APPROACHING LEVEL READER PACKAGE 6 OF 30 GRADE 1	978-0-07-689791-9	22	\$1,015.50	\$22,341.00	*Free Materials
WONDERS ON LEVEL LEVELED READER PACKAGE 6 OF 30 GRADE 1	978-0-07-689774-2	22	\$1,015.50	\$22,341.00	*Free Materials
WONDERS BEYOND LEVELED READER PACKAGE 6 OF 30 GRADE 1	978-0-07-689732-2	22	\$1,015.50	\$22,341.00	*Free Materials
		READ	ERS Subtotal	\$76,292.70	\$0.00
	WONDERS © 2023, G	RADE 1 (6	Year) Subtotal	\$105,200.70	\$86,100.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 09/01/2022 ACCOUNT NAME: Floyd County Bd of Ed EXPIRATION DATE: 10/16/2022

QUOTE NUMBER: SHUEB-09012022-001 ACCOUNT #: 281213 PAGE #: 4



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE 2 (6 Year)					
STUDENT MATERIALS					
WONDERS COMPREHENSIVE 6 YEAR SUBSCRIPTION BUNDLE GRADE 2 Includes: Reading Writing Companion (Years 2-6 Ship Annually), Literature Anthology, 6 Year Student Workspace Subscription	978-1-26-573940-9	393	\$156.00	\$0.00	\$61,308.00
	STUDENT	MATER	IALS Subtotal:	\$0.00	\$61,308.00
TEACHER MATERIALS					
WONDERS TEACHER EDITION PACKAGE GRADE 2	978-1-26-557679-0	19	\$630.00	\$11,970.00	*Free Materials
WONDERS NATIONAL TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 2	978-1-26-588391-1	19	\$645.00	\$12,255.00	*Free Materials
WONDERS NATIONAL PRACTICE BOOK GRADE 2	978-1-26-580516-6	19	\$39.00	\$741.00	*Free Materials
	TEACHER	MATER	IALS Subtotal:	\$24,966.00	\$0.00
READERS					
WONDERS DECODABLE READER PACKAGE 6 OF 6 GRADE 2	978-0-07-666171-8	19	\$430.35	\$8,176.65	*Free Materials
WONDERS APPROACHING LEVELED READER PACKAGE 6 OF 30 GRADE 2	978-0-07-689758-2	19	\$1,015.50	\$19,294.50	*Free Materials
WONDERS ON LEVEL LEVELED READER PACKAGE 6 OF 30 GRADE 2	978-0-07-689777-3	19	\$1,015.50	\$0.00	\$19,294.50
WONDERS BEYOND LEVELED READER PACKAGE 6 OF 30 GRADE 2	978-0-07-689736-0	19	\$1,015.50	\$19,294.50	*Free Materials
	•	READ	ERS Subtotal:	\$46,765.65	\$19,294.50
	WONDERS © 2023, GR	ADE 2 (6	Year) Subtotal:	\$71,731.65	\$80,602.50

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: 09/01/2022 ACCOUNT NAME: Floyd County Bd of Ed EXPIRATION DATE: 10/16/2022

QUOTE NUMBER: SHUEB-09012022-001 ACCOUNT #: 281213 PAGE #: 5



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE 3 (6 Year)					
STUDENT MATERIALS					
WONDERS COMPREHENSIVE 6 YEAR SUBSCRIPTION BUNDLE GRADE 3 Includes: Reading Writing Companion (Years 2-6 Ship Annually), Literature Anthology, 6 Year Student Workspace Subscription	978-1-26-573956-0	352	\$156.00	\$0.00	\$54,912.00
	STUDE	NT MATERI	ALS Subtotal:	\$0.00	\$54,912.00
TEACHER MATERIALS					
WONDERS TEACHER EDITION PACKAGE GRADE 3	978-1-26-558160-2	14	\$630.00	\$8,820.00	*Free Materials
WONDERS NATIONAL TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 3	978-1-26-588711-7	14	\$645.00	\$9,030.00	*Free Materials
WONDERS NATIONAL PRACTICE BOOK GRADE 3	978-1-26-580738-2	14	\$39.00	\$546.00	*Free Materials
	TEACH	ER MATER	IALS Subtotal:	\$18,396.00	\$0.00
READERS					
WONDERS APPROACHING LEVELED READER PACKAGE 6 OF 30 GRADE 3	978-0-07-689762-9	14	\$1,015.50	\$14,217.00	*Free Materials
WONDERS ON LEVEL LEVELED READER PACKAGE 6 OF 30 GRADE 3	978-0-07-689781-0	14	\$1,015.50	\$0.00	\$14,217.00
WONDERS BEYOND LEVELED READER PACKAGE 6 OF 30 GRADE 3	978-0-07-689738-4	14	\$1,015.50	\$14,217.00	*Free Materials
		READ	ERS Subtotal	\$28,434.00	\$14,217.00
	WONDERS © 2023, G	RADE 3 (6 '	Year) Subtotal	\$46,830.00	\$69,129.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 09/01/2022

ACCOUNT NAME: Floyd County Bd of Ed

EXPIRATION DATE: 10/16/2022

SHUEB-09012022-001

ACCOUNT #: 281213



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE 4 (6 Year)					
STUDENT MATERIALS					
WONDERS COMPREHENSIVE 6 YEAR SUBSCRIPTION BUNDLE GRADE 4 Includes: Reading Writing Companion (Years 2-6 Ship Annually), Literature Anthology, 6 Year Student Workspace Subscription	978-1-26-574149-5	421	\$156.00	\$0.00	\$65,676.00
	STUDE	NT MATER	IALS Subtotal:	\$0.00	\$65,676.00
TEACHER MATERIALS					
WONDERS TEACHER EDITION PACKAGE GRADE 4	978-1-26-558325-5	13	\$630.00	\$8,190.00	*Free Materials
WONDERS NATIONAL TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 4	978-1-26-589048-3	13	\$645.00	\$8,385.00	*Free Materials
WONDERS NATIONAL PRACTICE BOOK GRADE 4	978-1-26-580827-3	13	\$39.00	\$507.00	*Free Materials
	TEACH	ER MATER	IALS Subtotal	\$17,082.00	\$0.00
READERS					
WONDERS APPROACHING LEVELED READER PACKAGE 6 OF 30 GRADE 4	978-0-07-689764-3	13	\$1,015.50	\$13,201.50	*Free Materials
WONDERS ON LEVEL LEVELED READER PACKAGE 6 OF 30 GRADE 4	978-0-07-689785-8	13	\$1,015.50	\$0.00	\$13,201.50
WONDERS BEYOND LEVELED READER PACKAGE 6 OF 30 GRADE 4	978-0-07-689741-4	13	\$1,015.50	\$13,201.50	*Free Materials
	: \$26,403.00	\$13,201.50			
WONDERS © 2023, GRADE 4 (6 Year) Subtotal:				\$43,485.00	\$78,877.50

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

09/01/2022

ACCOUNT NAME: Floyd County Bd of Ed EXPIRATION DATE: 10/16/2022

PAGE #:

7

QUOTE NUMBER: SHUEB-09012022-001 ACCOUNT #: 281213



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE 5 (6 Year)					
STUDENT MATERIALS					
WONDERS COMPREHENSIVE 6 YEAR SUBSCRIPTION BUNDLE GRADE 5 Includes: Reading Writing Companion (Years 2-6 Ship Annually), Literature Anthology, 6 Year Student Workspace Subscription	978-1-26-574206-5	409	\$156.00	\$0.00	\$63,804.00
	STUDE	NT MATER	IALS Subtotal:	\$0.00	\$63,804.00
TEACHER MATERIALS					
WONDERS TEACHER EDITION PACKAGE GRADE 5	978-1-26-558496-2	11	\$630.00	\$6,930.00	*Free Materials
WONDERS NATIONAL TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE 5	978-1-26-589104-6	11	\$645.00	\$7,095.00	*Free Materials
WONDERS NATIONAL PRACTICE BOOK GRADE 5	978-1-26-581298-0	11	\$39.00	\$429.00	*Free Materials
	TEACH	IER MATER	IALS Subtotal:	\$14,454.00	\$0.00
READERS					
WONDERS APPROACHING LEVELED READER PACKAGE 6 OF 30 GRADE 5	978-0-07-689768-1	11	\$1,015.50	\$11,170.50	*Free Materials
WONDERS ON LEVEL LEVELED READER PACKAGE 6 OF 30 GRADE 5	978-0-07-689787-2	11	\$1,015.50	\$0.00	\$11,170.50
WONDERS BEYOND LEVELED READER PACKAGE 6 OF 30 GRADE 5	978-0-07-689745-2	11	\$1,015.50	\$11,170.50	*Free Materials
	READERS Subtotal:			\$22,341.00	\$11,170.50
	WONDERS © 2023, G	SRADE 5 (6	\$36,795.00	\$74,974.50	

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

09/01/2022

ACCOUNT NAME: Floyd County Bd of Ed

EXPIRATION DATE: 10/16/2022

QUOTE NUMBER:

SHUEB-09012022-001

ACCOUNT #: 281213



QUOTE PREPARED FOR:

Floyd County Bd of Ed 106 N FRONT AVE PRESTONSBURG, KY 41653-7832 ACCOUNT NUMBER: 281213

CONTACT:

Serena Anderson serena.anderson@floyd.kyschools.us (606) 886-2354

GRAND TOTAL	\$505,429.81
ESTIMATED TAX**	\$0.00
ESTIMATED SHIPPING & HANDLING**	\$9,906.31
PRODUCT TOTAL*	\$495,523.50
FREE MATERIALS	(\$400,069.47)
VALUE OF ALL MATERIALS	\$895,592.97

SUBSCRIPTION/DIGITAL CONTACT:

Serena Anderson
serena.anderson@floyd.kyschools.us
(606) 886-2354

	(000) 000 000					
Comments:				ALTERNATION OF THE PARTY OF THE		
			THE RESERVE THE PERSON NAMED IN COLUMN 1	16 1-1-1-	and the same of the same of	

Terms of Service:

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or <a href="https://www.mheducat

School Purchase Order Number:		
Name of School Official (Please Print)	Signature of School Official	•

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

09/01/2022

ACCOUNT NAME: Floyd County Bd of Ed

EXPIRATION DATE:

10/16/2022

QUOTE NUMBER:

SHUEB-09012022-001

ACCOUNT #: 281213

PAGE #:

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



QUOTE PREPARED FOR:

Floyd County Bd of Ed 106 N FRONT AVE PRESTONSBURG, KY 41653-7832 ACCOUNT NUMBER: 281213

CONTACT:

Serena Anderson serena.anderson@floyd.kyschools.us (606) 886-2354

SUBSCRIPTION/DIGITAL CONTACT:

Serena Anderson serena.anderson@floyd.kyschools.us (606) 886-2354

SALES REP INFORMATION:

Salina Huebner salina.huebner@mheducation.com (859) 533-1300

Section Sur	nmary	Value of All Materials	Free Materials	Product Subtotal
Study Sync Student Materials		\$327,759.30	\$0.00	\$327,759.30
Teacher Materials		\$21,943.84	(\$21,943.84)	\$0.00
Teacher Michards	PRODUCT TOTAL*	\$349,703.14	(\$21,943.84)	\$327,759.30
	ESTIMATED S&H**			\$7,871.77
	ESTIMATED TAX**			TBC
	GRAND TOTAL*			\$335,631.07

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:		
l		

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 09/01/2022

KMASO-08152022-003

ACCOUNT NAME: Floyd County Bd of Ed

ACCOUNT #: 281213

EXPIRATION DATE:

10/16/2022

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Study Sync Student Materials					
STUDYSYNC CORE ELA GRADE 6 STD HC STUDENT BNDL 6YR PRINT DIGITAL	978-1-26-417431-7	330	\$130.00	\$0.00	\$42,900.00
STUDYSYNC GRADE 6 STUDENT ONLINE 6 YEAR SUBSCRIPTION	978-0-07-686776-9	36	\$92.70	\$0.00	\$3,337.20
STUDYSYNC CORE ELA GRADE 7 STD HC STUDENT BNDL 6YR PRINT DIGITAL	978-1-26-417432-4	330	\$130.00	\$0.00	\$42,900.00
STUDYSYNC GRADE 7 STUDENT ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700847-5	82	\$92.70	\$0.00	\$7,601.40
STUDYSYNC CORE ELA GRADE 8 STD HC STUDENT BNDL 6YR PRINT DIGITAL	978-1-26-417424-9	300	\$130.00	\$0.00	\$39,000.00
STUDYSYNC GRADE 8 STUDENT ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700850-5	121	\$92.70	\$0.00	\$11,216.70
STUDYSYNC CORE ELA GRADE 9 STD HC STUDENT BNDL 6YR PRINT DIGITAL	978-1-26-417920-6	270	\$130.00	\$0.00	\$35,100.00
STUDYSYNC GRADE 9 STUDENT ONLINE 6 YEAR SUBSCRIPTION	978-0-07-685299-4	168	\$92.70	\$0.00	\$15,573.60
STUDYSYNC CORE ELA GRADE 10 STD HC STUDENT BNDL 6YR PRINT DIGITAL	978-1-26-417921-3	270	\$130.00	\$0.00	\$35,100.00
STUDYSYNC GRADE 10 STUDENT ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700787-4	165	\$92.70	\$0.00	\$15,295.50
STUDYSYNC CORE ELA GRADE 11 STD HC STUDENT BNDL 6YR PRINT DIGITAL	978-1-26-417937-4	240	\$130.00	\$0.00	\$31,200.0
STUDYSYNC GRADE 11 STUDENT ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700793-5	50	\$92.70	\$0.00	\$4,635.00
STUDYSYNC CORE ELA GRADE 12 STD HC STUDENT BNDL 6YR PRINT DIGITAL	978-1-26-417939-8	240	\$130.00	\$0.00	\$31,200.0
STUDYSYNC GRADE 12 STUDENT ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700836-9	137	\$92.70	\$0.00	\$12,699.9
	Ot . t . C	Physicant Mar	terials Subtota	: \$0.00	\$327,759.3

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 09/01/2022

KMASO-08152022-003

ACCOUNT NAME: Floyd County Bd of Ed

ACCOUNT #: 281213

EXPIRATION DATE: 10/16/2022

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
Teacher Materials	•				
STUDYSYNC CORE ELA GRADE 6 TEACHER EDITION PACKAGE VOLUMES 1 AND 2	978-0-07-703691-1	12	\$174.06	\$2,088.72	*Free Materials
STUDYSYNC CORE ELA GRADE 7 TEACHER EDITION PACKAGE VOLUMES 1 AND 2	978-0-07-703692-8	11	\$174.06	\$1,914.66	*Free Materials
STUDYSYNC CORE ELA GRADE 8 TEACHER EDITION PACKAGE VOLUMES 1 AND 2	978-0-07-703693-5	10	\$174.06	\$1,740.60	*Free Materials
STUDYSYNC CORE ELA GRADE 9 TEACHER EDITION PACKAGE VOLUMES 1 AND 2	978-0-07-703787-1	9	\$174.06	\$1,566.54	*Free Materials
STUDYSYNC CORE ELA GRADE 10 TEACHER EDITION PACKAGE VOLUMES 1 AND 2	978-0-07-703791-8	9	\$174.06	\$1,566.54	*Free Materials
STUDYSYNC CORE ELA GRADE 11 TEACHER EDITION PACKAGE VOLUMES 1 AND 2	978-0-07-703792-5	8	\$174.06	\$1,392.48	*Free Materials
STUDYSYNC CORE ELA GRADE 12 TEACHER EDITION PACKAGE VOLUMES 1 AND 2	978-0-07-703796-3	8	\$174.06	\$1,392.48	*Free Materials
STUDYSYNC GRADE 6 TEACHER ONLINE 6 YEAR SUBSCRIPTION	978-0-07-686775-2	12	\$153.46	\$1,841.52	*Free Materials
STUDYSYNC GRADE 7 TEACHER ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700848-2	11	\$153.46	\$1,688.06	*Free Materials
STUDYSYNC GRADE 8 TEACHER ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700851-2	10	\$153.46	\$1,534.60	*Free Materials
STUDYSYNC GRADE 9 TEACHER ONLINE 6 YEAR SUBSCRIPTION	978-0-07-685296-3	9	\$153.46	\$1,381.14	*Free Materials
STUDYSYNC GRADE 10 TEACHER ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700788-1	9	\$153.46	\$1,381.14	*Free Materials
STUDYSYNC GRADE 11 TEACHER ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700794-2	8	\$153.46	\$1,227.68	*Free Materials
STUDYSYNC GRADE 12 TEACHER ONLINE 6 YEAR SUBSCRIPTION	978-0-07-700837-6	8	\$153.46	\$1,227.68	*Free Materials
STUDYSTNC GRADE 12 TEACHER CHEINE O TEAR GODGON! THON			erials Subtotal	: \$21,943.84	\$0

Teacher Materials Subtotal:

\$21,943.84

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE: QUOTE NUMBER: 09/01/2022

KMASO-08152022-003

ACCOUNT NAME: Floyd County Bd of Ed

ACCOUNT #: 281213

EXPIRATION DATE: 10/16/2022

PAGE #:



QUOTE PREPARED FOR:

Floyd County Bd of Ed 106 N FRONT AVE PRESTONSBURG, KY 41653-7832 ACCOUNT NUMBER: 281213

CONTACT:

Serena Anderson serena.anderson@floyd.kyschools.us (606) 886-2354

GRAND TOTAL	\$335,631.07		
ESTIMATED TAX**	TBD		
ESTIMATED SHIPPING & HANDLING**	\$7,871.77		
PRODUCT TOTAL*	\$327,759.30		
FREE MATERIALS	(\$21,943.84)		
VALUE OF ALL MATERIALS	\$349,703.14		

SUBSCRIPTION/DIGITAL CONTACT:

Serena Anderson serena.anderson@floyd.kyschools.us (606) 886-2354

()	
Comments:	
Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.	

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound by the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. Subject to Subscriber's payment of the fees set out above, McGraw Hill LLC hereby grants to Subscriber a non-exclusive, non-transferable license to allow only the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the terms described in the Terms of Service and any specific provisions required by Subscriber's state law, each located in the applicable links below. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is specified, the initial term shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year terms (each a 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscriber.

Terms Of Service

Provisions required by Subscriber State law

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April 30, 2016 we will no longer accept credit card orders via email, fax, or mail/package delivery. Credit card orders may be placed over the phone by calling the number listed above or via our websites by visiting www.mheducation.com (or www.mhecoast2coast.com).

School Purchase Order Number:		
Name of School Official (Please Print)	Signature of School Official	

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

09/01/2022

ACCOUNT NAME: Floyd County Bd of Ed

EXPIRATION DATE:

10/16/2022

QUOTE NUMBER:

KMASO-08152022-003

ACCOUNT #: 281213

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes are not included in the quote total. If applicable, actual tax charges will be applied at time of order.



QUOTE PREPARED FOR:

Floyd County Bd of Ed 106 N FRONT AVE PRESTONSBURG, KY 41653-7832 ACCOUNT NUMBER: 281213

CONTACT:

Serena Anderson serena.anderson@floyd.kyschools.us (606) 886-2354

SUBSCRIPTION/DIGITAL CONTACT:

Serena Anderson serena.anderson@floyd.kyschools.us (606) 886-2354

SALES REP INFORMATION:

Salina Huebner salina.huebner@mheducation.com (859) 533-1300

Section Summary		Value of All Materials	Free Materials	Product Subtotal
WONDERS © 2023, GRADE K (6 Year)		\$201,867.12	(\$96,027.12)	\$105,840.00
		\$191,300.70	(\$105,200.70)	\$86,100.00
WONDERS © 2023, GRADE 1 (6 Year)		\$152,334.15	(\$71,731.65)	\$80,602.50
WONDERS © 2023, GRADE 2 (6 Year)		\$115,959.00	(\$46,830.00)	\$69,129.00
WONDERS © 2023, GRADE 3 (6 Year)		\$122,362.50	(\$43,485.00)	\$78,877.50
WONDERS © 2023, GRADE 4 (6 Year)		\$111,769.50	(\$36,795.00)	THE STATE OF THE S
WONDERS © 2023, GRADE 5 (6 Year)	PRODUCT TOTAL*	\$895,592.97	(\$400,069.47)	
	ESTIMATED S&H**			\$9,906.31
	ESTIMATED TAX**			\$0.00
	GRAND TOTAL*			\$505,429.81

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

Comments:		

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

09/01/2022

ACCOUNT NAME: Floyd County Bd of Ed

EXPIRATION DATE:

10/16/2022

QUOTE NUMBER:

SHUEB-09012022-001

ACCOUNT #: 281213

PAGE #:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only estimates. If applicable, actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS © 2023, GRADE K (6 Year)					
WONDERS K SYSTEM 6 YEAR SUBSCRIPTION BUNDLE GRADE K	978-1-26-573786-3	24	\$4,410.00	\$0.00	\$105,840.00
*THE FOLLOWING ITEMS ARE INCLUDED IN THE KIND	DERGARTEN SYS	TEM			
WONDERS READING WRITING COMPANION PACKAGE GRADE K Years 2-6 will ship automatically on the anniversary date of the original order (21 Included)		0	\$36.00	\$0.00	\$0.00
"WONDERS NATIONAL STUDENT WORKSPACE 6 YEAR SUBSCRIPTION GRADE K (21 Included)	978-1-26-586151-3	0	\$147.00	\$0.00	\$0.00
WONDERS TEACHER EDITION PACKAGE GRADE K	978-1-26-557378-2	0	\$630.00	\$0.00	\$0.00
*WONDERS NATIONAL TEACHER WORKSPACE 6 YEAR SUBSCRIPTION GRADE K	978-1-26-588035-4	0	\$645.00	\$0.00	\$0.00
*WONDERS LITERATURE BIG BOOK PACKAGE GRADE K	978-0-07-689794-0	0	\$1,692.15	\$0.00	\$0.00
*WONDERS DECODABLE READERS PACKAGE 6 EACH OF 10 GRADE K	978-0-07-697730-7	0	\$659.13	\$0.00	\$0.00
*WONDERS INSTRUCTIONAL ROUTINE HANDBOOK GRADE K-6	978-0-07-697907-3	0	\$61.20	\$0.00	\$0.00
*WONDERS NATIONAL PRACTICE BOOK GRADE K	978-1-26-579426-2	0	\$39.00	\$0.00	\$0.00
*WONDERS HIGH FREQUENCY WORD CARDS GRADE K	978-0-02-119290-8	0	\$66.54	\$0.00	\$0.00
*WONDERS PHOTO CARDS GRADE K-2	978-0-02-119559-6	0	\$191.85	\$0.00	\$0.00
*WONDERS CENTER ACTIVITY CARDS PACKAGE GRADE K	978-1-26-432748-5	0	\$205.11	\$0.00	\$0.00
*WONDERS PLACEMENT AND DIAGNOSTIC ASSESSMENT GRADE K-	978-0-07-901764-2	0	\$87.00	\$0.00	\$0.00
*WONDERS LANGUAGE TRANSFERS HANDBOOK	978-0-07-906593-3	0	\$33.99	\$0.00	\$0.00
*WONDERS NATIONAL UNIT ASSESSMENTS GRADE K	978-1-26-569995-6	0	\$58.50	\$0.00	\$0.00
*WONDERS NATIONAL BENCHMARK ASSESSMENTS GRADE K	978-1-26-571071-2	0	\$30.00	\$0.00	\$0.00
*THE FOLLOWING ITEMS ARE INCLU	DED IN THE KINDERG	ARTEN SYS	TEM Subtotal:	\$0.00	\$0.00
MANIPULATIVES (NOT INCLUDED IN THE K SYSTEM)					
WONDERS LEVELED READER LESSON CARDS GRADE K	978-0-07-695364-6	24	\$78.03	\$1,872.72	
WONDERS INTERACTIVE READ ALOUD CARDS GRADE K	978-0-07-683971-1	24	\$158.46		
WONDERS VISUAL VOCABULARY CARDS GRADE K	978-0-02-119368-4	24	\$75.93	\$1,822.32	
WONDERS GENRE READ ALOUD GRADE K	978-0-07-898219-4	24	\$21.63		The state of the s
WONDERS RETELLING CARDS GRADE K	978-0-02-119361-5	24	\$313.23		
WONDERS SOUND SPELLING SMALL CARDS GRADE K-6	978-0-02-119556-5	24	\$67.47		
WONDERS SOUND SPELLING LARGE CARDS GRADES K-6	978-0-07-676809-7	24	\$166.02		
READING WONDERS TEACHING POSTERS CHART GRADE K-1	978-0-02-119529-9	24	\$73.86		
MANIPULATIV	ES (NOT INCLUDED IN	THE K SYS	TEM) Subtotal	: \$22,911.12	2 \$0.0
READERS					
WONDERS APPROACHING LEVELED READER PACKAGE 6 OF 30 GRADE K	978-0-07-689726-1	24	\$1,015.50	\$24,372.00	*Free Materia

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

09/01/2022

ACCOUNT NAME: Floyd County Bd of Ed

EXPIRATION DATE: 10/16/2022

QUOTE NUMBER:

SHUEB-09012022-001

ACCOUNT #: 281213

PAGE #:



Product Description	ISBN	Qty	Unit Price	Free Materials	Line Subtotal
WONDERS ON LEVEL LEVELED READER PACKAGE 6 OF 30 GRADE K	978-0-07-689772-8	24	\$1,015.50	\$24,372.00	*Free Materials
WONDERS BEYOND LEVELED READER PACKAGE 6 OF 30 GRADE K	978-0-07-689728-5	24	\$1,015.50	\$24,372.00	*Free Materials

READERS Subtotal:

\$73,116.00

\$0.00

WONDERS © 2023, GRADE K (6 Year) Subtotal:

\$96,027.12

\$105,840.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO:

McGraw Hill LLC | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-338-3987 | Fax: 1-800-953-8691

QUOTE DATE:

09/01/2022

ACCOUNT NAME: Floyd County Bd of Ed

EXPIRATION DATE: 10/16/2022

QUOTE NUMBER:

SHUEB-09012022-001

ACCOUNT #: 281213